Приложение 3.
Тест № 2.
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[image: image1.wmf]2

8

.                                                                                                     
1) x = (–1)n [image: image4.wmf]4

p


 + πn, n
[image: image5.wmf]Î

z.                                                        

2) x = ± 

 + πn, n
[image: image8.wmf]Î

z.                                                          
3) x = 

 + 
[image: image11.wmf]2

n

p

, n
[image: image12.wmf]Î

z.                                                      
4) x = ± [image: image14.wmf]4

p


 + 2πn, n
[image: image15.wmf]Î

z.                                                          
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4. Решить уравнение: 2cos (
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7. Укажите наименьший  положительный корень уравнения: sin [image: image85.wmf]2
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8.При каких значениях х значение функции  f(x) =
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